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Math 8R Name

Week 1 - Assignment 1 Drstri bute Date Period
Solve each equation. ~ SiC PS .
-0t - X +] ‘ :
1) -110 = -2(8x + 7) ‘ 2 (8 )2) -4(3n+6)+4=-104 ~"Don't (all Me e
6) B) {16l -1\ O 3 -lb x-)l;} A) 3] B) |-1] Af+er Mid v Q
O®  Dfar 4 Yool phd @ serrouke
b3 -lbx @ Combowe Like€
L :\ -\b “Krg;f“ Some
| :
b = X Move all varnadj
3) —135 = 5(6n + 3) 4) 6(1 - 8m) + 3m = 231 Yo one S\de using
A) {10} | A) {8 B) {-9} WV erse .
B) {-5} ) -3} D) {-10} ® paa I e wotract
©) {1 ConSYawA
D) { All real numbers. }
OmMuir/dwnde
CoefAcrenH.
5) —224 =7(5x + 8) 6) -130 = -5(1 - 5x)
A) {-13) B g A) {4} B) {-5}
o (1) D) {-8} ) {-1} D) {11}

L e
i 0 A, WD (Y, T2 Sl it (es 7‘)8) -95 = -5(7x - 2)

A) {-10} @:%}-w?. 3%+ 24 -28x% ) {5} B) {9}

C) {3} DI ook e | @B D

- 24 (-2M
-\8L\= -3\ X
ST =\
9 1-6n=-n+16 (D:X 10) n-4n=-9 + 6n
A 42 : A) %-}9}
(B) {-3] ) \-L -0 x\b B) i1
O + n [ 4N C) {All real numbers. }
D) { All real numbers. } SR D) {14
’ = \Lo
-,L o1t th_.,
-15 = 5n
S S 1



11) 1+6x=-13-x
A) {-3] B) {~12}
0) {-2} D) {3}

13) 14+1+2p+6p=4p-5

A) {2} B) {-5
€ {1 D) {-7}
w)§+2=1

A) {-8} B) {-18}
C) {6} D) (-4

17) -8m +8=-120
'A) 2 B) {19
C) {6} D) {16}

19) -9p + 4 =-104
A) 2} B) {1}
C) {6} D) {12}

12) 1-2p=5-p
A) -8} B) {-9}
0) {14} D) {-4}

14) 14+b=7b+8

A) {10} B) {12
C) {13} D) {1}
16) % —4=-6
A) {-14] ) {~10}
C) {8} D) {-4
18) -5n+ 6 =31
A) {-12] B) {1}
©) {-5} D) {14}

20) 24=-p-8

A) {16} B) (-8}
C) {-14) D) (8



Math 8R Name

Period

Week 1 - Assignment 2 Datg
Solve each proportion. CRDss \n uLT\rp L\'
Twen SO .
21) 2) ==
A) 2.5} B) {1] A) 2} B) {6.9]
D) {6.5) ) {6.67) D) {6.6]
56 =0 |
s )
A) {1} B) {1.17) A) {9} B) {2.29]
C) {2.8] D) {7.5} C) {5.9] D) {8.9}
25) ~—% 26) %—g
A) {5} B) {2.5) A) 7.1} B) {4
C) {6} D) {8} C) {533} D) {9.1}
27) 5—% 28) ——%
A) {7} B) (8.8} A) 2] B) {4.1]
C) {6} D) {0.67} C) {2.9} D) {20}
n 3 05l
A) {8} B) {9) A) s} B {778
o {3} b3 ofl o



* Correspondwng S\des

Each pair of figures is similar. Find the missing side.

31) 132
) shord Lo G
S
L
12 o 12 X :‘ 8p
) L3
G ¥
132
A) 88 B) 132 Cy 11 D) 1452
32) o . 33)
i
9
90
90
X
- B) 20
C) 0.2 D) 90
34) i -
28
28
11 11
7T
X
A) 77 B) 28 89 S D) 4
35) "
64 X
8 8
° 48 64
A) 8 B) 48
C) 6 D) 384

r e
C) 54

asr<

1

21

27

33

B) 7
D) 21



36) : 37)

48 10i ss

66 8 8 110

X
99
11

66 -

b A) 99 B) 1210

C) 9 D) 55
A) 6 B) 48
O 11 D) 10
38) i 3
ﬁ
24 6
40
9
X
A) 40 B) 36
©) 25 D) 4
39) s
35
1 11 36
X
36
33
A) 33 B) 36 € 12 D) 3

90

A) 162 B) 81
C) 108 D) 972

i35



Math 8R

Week 1 - Assignment 3

Solve each system by elimination.

+41) -8y=-18
x+9y=21

LA (63 B)(6—=3)

C) (6-9) D) (6,3)

=3

5 il
Gl &aho\/\ o 3Ded
o odniuret  x+3]=2

\\\'s} T
S50 6x v 8y-0 = =
—4x -8y =-8 CX"' )
) =g B) (4,3)
C) No solution D) (~4,3)
45) 2x-y=-8
-8x+y=26
A) (3,-7) B) (-3,2)
0 (-3,-7) D) (~7,-3)
U T 2p=12
~Tx+2y=-5
A) (8,-1) B) No solution
o) i1 8) D) (8,1)
49y cdy - Qp= 32
Tx+9y=-2
A) (-8,6) B) (9, 6)

Cy (-9, 6) D) (9, -6)

Name

Date Period

42) 3x+9y =12

—x—9y=-10
A) (1, -1) B) (1,1)
)1, -1) D) (-1,1)

44) 5x -7y =28
-x+7y=0
A (7, 1) B) (-6, 5)
il 5) D) (7,-1)
46) —x + 3= -10

+ 2x4y=-11
A) (7,3) B) (3,7)
-7 =3) D) (7, -3)

=3x =T
p—y -3

_—
‘P\ d .
Nowb\‘h p\u‘gg\x\g -l " ‘{:Df X]

48) 10x + 7y = -13

8x-Ty=-23
Ay (2,-3) B) (-2,-3)
C) (-2,1) D) (-2,3)

50) 10x+4y=0

-10x - 6y =-10
A) (2,-10) B) (-2,5)
(=2, -10) D) (-2, -5)



r O D\strcibute

Simplify each expression.

51) 4x+5+x-7

A) -3x-2 B) 2-5x
)2 D) 2-2x
53) 9x + 8x
A) 14x B) -11x
C) 8x D) 17x
55) 10-3n+5
A) 0 B) 15-3n
C) 15-11n D) -7n
57) -8v-2v
A) -Ov B) 7v
C) -10v D) -2v
59) -10x - 10x
A) 16x - 13 B) -15x
C) -12x D) -20x

(D Comb e L3R Terms
(same vorclote -%3

e N\ A g
52) —6a + 10a Wb
A) -14a B) 4a
C) 6a D) Sa

54) 8x'+vx. - qx + |

A) -11x B) 13x-1
56) 3r+ 5r

A) -8r B) 8r

C) -14r D) -18r

58) -5n-6+1-3n

A) -Tn-5 B) —8n-5

C) 4n D) 1-18n
60) 2a+3a

A) -1-4a B) 5a

C) -4a-6 D) 13a



Math 8R

Week 1 - Assignment 4

Solve each system by substitution.
oy
-5x + 8y)=21
A) (-1,6) -1,-2)
0 (-1,-7) (D) (1,2

- 5%+ 8(-ax) = 2|

-9 -\lX =2

-2\X = A\

_= ST
63) y=—6x

5x+5y=0
A) (0,0)
) (0,-4)

B

Y=-a(Y)

=

X-~\

B) (1, 0)
D) (0, 1)

65) 3x-y=18
y=06x
A) (6,36)
"C) (=6, =36)

B) (6, -36)
D) (-6,5)

67) y=x
3x+4y=1
A) (1,-1)
g a.1)

69) y=3x
S5x+3y=14
Ay 15, -3)
) {+5,<3)

B) (5,3)
D) (1,3

N

Name

Date Period

62) -7Tx+2y=17

y=-5x
A) Infinite number of solutions
B) (5, -1)
) (~1,5)
D) (-1, -5)
64) -3x+2y=0
y =-6x
A) (0,0) B) (5,0)
C) (-5, -8) D) (-5, 0)
66) y=x
4x -5y =8
A) (-4,8) B) (-8, -8)
C) No solution D) (8,-4)

-2X-5%X = =1L

63) y -%x 1
—3x (y): -16
D) !2 1| ‘7‘ Q)
y=5()

70) -6x +3y =12

y=6x
A) (1,6) B) (-1,6)
C) (7,6) D) (1, -6)



1) y=6x

-Ix-4y=0
A) (0,2) B) (0,0)
C) (6,6) D) (6,8)
73) -4x-y=-3
y=-T7x
A) (6, -1) B) (1, 6)
C) No solution D) (=1,7)
75) y=8x
~24x + 3y =6
A) (-5,-2) B) (-5,-4)
0y (-5.2) D) No solution
17 y=x
8x -4y =20
A) (-5,4) B) (4, -5)
) (5,5) D) (4,5)
79) -6x+3y=0
y=-Tx

A) No solution

B) Infinite number of solutions
C) (0,-6)

D) (0,0)

72) y=4x

Tx-4y=0
A) (0,0)
B) (0,-4)
C) Infinite number of solutions
D) (-2,0)

74) 2x -2y =4

y=3x

“A) (1,-4)

B) (-1,4)
C) (-1,-3)
D) Infinite number of solutions

76) y=-4x

-x=-2y=17
A) (8,-4)
B) (1,-4)
C) (-8, -4)
D) Infinite number of solutions

78) -4x-2y=0

y=-5x
A) (5,1)
B) Infinite number of solutions
c) (0,1)
D) (0,0)

80) y=2x

-4x+2y=0
A) (8,-4)
B) (8,8)
C) (7,-4)
D) Infinite number of solutions



Renviemloer: The

Math 8R Name

Week 1 - Assignment 5 a _\—Y\ (k V\g m h &Vf Pe:glf_

——

ongLsS W 10

Find the value of x.

31)

Sum () of \JD'.

82)

A) 19 B) 10
Gl 2 D) 14
A) 21 B) 15
C) 9 D) 14
83) 84)

(4x - 40)°

x-gr| T%=8 + 84 +3L =80

AX 4+ W7 =180
=\ =W

AY 37 B) 40 —
£y 37 D) 18 Ix = LD
—.7’ 2

)
03 D

85) 86)
(5x + 25)°
24°
26°
A) 21 B) 42
€) 37 D) 27

A) 13 B) 0
s D) 8



87)

89)

(10x + 8)°

A) 8
C) 3

91)

60°

B) 3
D) 13

(30 + x)°

A) 31
C) 30

B) 41
D) 35

88)

A) 6 B) 12
C) 15 D) 0
90)
(5x + 11)°
93°
31°
A) 9 B) 18
O 11 D) 1
92)
68°
68°
11x°
A) 4 B) 11
C) s D) 3

e



93)

62°

? 56° (9X+8)°
A) 6 B) 16
€)30 D) 22
95)
87°
60°
Bx+1)
A) 4 B) 12
€) 17 D) 10
97)
244
(A0x+ 7y )
A) 15 B) 10
th D) 9
99)

{

A) 9 B) 17
£) 1 D) 3

94)

96)
45°
(2+11x)° 45°
A) 8 B) 2
C) S D) 4

A) 6 B) 10
C) 12 D) 3
100)
67°
65"
(11x + 4)°
A) 19 B) 10
C) 4 D) 29

5y



Math 8R - Name

Week 2 - Assignment 1 Date

Find the value of x.

1)

A) 14 B) 18 A) 15 B) 13
ey 13 D) 8 0 10 D) 11

3)

A) 28 B) 36
C) 30 D) 22

A) 33 B) 43

C) 28 D) 37 A) 26 B) 37
/ C) 27 D) 33
> Suap Pl Aoy

/N
\

Period



7)

A) 21
C) 19

9

‘A) 49
C) 41

11)

61°

(6x + 5)°

B) 25
D) 24

3x°

B) 38
D) 43

147°

8)

\ .

A) 43
C) 41

10)

Congqruent

Al 30
C) 34

12)

2%

A) 21
C) 19

y

B
D) 18

A) 52
C) 46

o

B) 45
D) 38

(1 +3%)°

B) 35
D) 33

3x°

B) 47
D) 48

141°



13)

(5x + 3)°
A) 18 B) 19
C) 26 D) 22
15)
S 7 /
iR /110°
A) 19 B) 22
C) 16 D) 17
17)
@x+2yp /&
A) 33 B) 27
@) 37 D) 31
19) /
< > TEEIE
: 97-/
A) 54 B) 49
C) 50 D) 48

14)
~ > (5X7
A) 21 B) 18
)11 D) 16
16)
5 > ZX"/ >
- / ;
A) 69 B) 68
C) 64 D) 61
18) /
< > 57 —
> (5x+2)‘]/ -
A) 19 B) 22
C) 18 D) 21
20) /
< » 575 >
2 > (4x+1);/ >
A) 24 B) 19
C) 17 D) 15

3=



Math 8R P\ B\ g \n - Name
Week 2 - Assignment 2 - S\mpu R1 Date Period

Evaluate each using the values given.

21) (h)(h—j+h); useh=6,and j=3 2] (y)(y—x)—4; usex =1,and@y=5
A) 58 B) 54 A) 16 B) 17
C) 49 D) 59 C) 22 D) 13 (5)(5 - \)
[
; S (4)
~
20
23) (q)(p—ﬁ); use p="5,and g =3 24) (z)(zz) -x;usex=4,andz=2
5 A 6 B) 3
A) 12 B) 9 i 2 D) 4
C)y 7 D) 10
25) y+x+§;usex=6,andy=2 26) c—%—b;useb=1,andc=4
A) 6 B) 9 A) 1 B) 2
C) 14 D) 4 LS5 D) 3

7

Ranemboer () when sushiuhng,

27) p+p-m-4;usem=1,and p=6 28)useh——-1,andj=5

A) 6 B) 2 A) 28 B) 32 (3
07 D4 ox @) B)+}5
AS + |1+ 5
3\
29) (p)(q—S);usep=2,andq=5 30) m—p>+m;usem=6,and p=1
g A) 15 B) 17
A) 1 B) 0 C) 16 D) 11

€).7 D) 5



Simplify each expression.

31) x+5+7
A) 12x B) 9x
C) x+3 D) x+ 12
33) 2m-m
A) 5m B) 11m
C) 8m D) m
35) 1-9-9
A) -8 -9a B) -8 - 10a
C0 D) -6a
37) 1-5p+3p
A) 1-3p B) 1+4p
C)1-2p D)1+p

39) -9b + 10 - 6b
T L B) -16b - 2
¢y =24b -2 D) -15b + 10

32) 3x-10x
A) 5-13x
C) -10x

34) k-3 -6k+1
Ay Sk-2
G 73k

36) -9n - 10n
A) -28n
C) -19n

38) 3+ 6b - 3b
A) -6b-11
C) 3+3b

40) 61+ 3n
A) 0
CyrL+7n

B) 5-4x
D) -7x

B) 0
D) 17 + 4k

B) -n-6
D) -9n -6

B) 13b
D) -8b-11

B) 9n
D) 15n



Mulhply Aln S [ D
(vefHe V\%‘S‘d S l\/l D elhLents,
R

add Rpb SupYract Name
. QK(PDMV\:TS-
Week 2 - Assignment 3 Date Period
Simplify. Your answer should contain only positive exponents.
41) 2k* - 4k 42) 3n-2n-3n"
B) 40kS A) 18n°  B) 284°
C) 16k° D) 16k* C) 64n® D) 4n*
d Y+ 1
TK = Bk
rhﬁmmberl 1 whan Yhaerey \
43) 8k 8k NO expowant 44) 3n* - n*
A) 12k* B) 36k° A) 3n° B) 5n°
C) 64k° D) 21k’ C) 48n® D) 14n®
45) k*- 8k 46) 4n - 3n
A) 2k* B) 18k* A) 12n* B) 8n’
Cy 24K ~ D)8k - ¢) 21 D) 7n*
47) m - 5m’> 48) 2x* - 5x
A) 6m° B) 5m* a0yt B) 32x°
C) 24m’ D) 7m* C) 10x° D) 18x’

A) 27 B) 477 4
Q) r Dy 1 3x

e



2
53) sm_
2

=z
3 |3

a
SRS

55) S 4x

A) 192x1?
C) 324x®

57) (382 - 267

A) 4k"
C) 36k®

59) () - 2+
A) 278
C) 64r'®

o
~

=,
e
Bjw o

B)

D)

(.@ 4“‘ g

B)-2x"

%

B) 16k°
D) 8k°

B): 2¢**
D) 8¢°

n
54) —
5n°

A) 1

C) 6n

s6) (3p°- p°)

A) 24p°
) 128p°

58) (4x?)’ - 3x°

A) 4x°
) 192¢°

60) (35 - 3%’
A) 729b*
C) 2b°

B) 36p**
D) 9p12

B) 2x°
D) x®

B) 8™
D) 144b°



mﬂ: \‘ L°\l |

Math 8R Name

Week 2 - Assignment 4 X 7 AP )( | Date Period
Find the slope of the line through each pair of points.

61) &szt), (;g, -\}19) 7 (,\q\_(\..w 62) (-16, 13), (~16, -8)

33 el A) Undefined B) 3
R i (.q)_ Qz) eyt D) 0
33 i
7 D) 33
- =-33 |33}
il 1L
63) (4, 20), (16, 20) 64) (19, 14), (4, 0)
A) Undefined B)'1 14 14
Q) 0 D)l T T
15 15
o P)~1a
65) (12, -13), (4, 20) 66) (-7, 2), (3, -6)
33 8 5 5
ey B) o A = B) -3
33 8 4 4
Ok Djdee C) D) -7
67) (0, -12), (20, 13) 601 -8 -9), (-18, -6)
5 4 10 3
s B3 sy 10
4 5 10 3
Ui D) 7 e D) -5



Find the slope of each line.
69)

¥ 24
'2’.'*
)
\
W -2
1
5 D) 2
) 2 )
71) .
\
3 3
A) -— B)
) " )5
€)ii0 D) Undefined

g kund o

e e
s

e \'E

R\v\ﬁm)—%—k LH 1o \’\%\k’k |
Ay I — N
W=
‘ 3 <
E 43
C) -% D) 1
72) L
Y :
A) = B) —%
0-3 D3

+

Muoaus Ko




73) 74)

Ay Ay
s
/ r
<& / > 5 //
e / x i x
/ J
I//
/
R y
3 5 3 3
Aj = B) -— . 8 2 e
= ) 2 ) # B
5 3 4 4
)= D) -— () D) —
) 3 ) 5 ) 3 ) 3
=
(L@Q
c)\o?e' \:Y\"\"e
04 4
N = MX+ b
Write the slope-intercept form of the equation of each line.
5) Ay 70) AY
» // *\
i U e il
i 5 . { ) \
T P T -)’* 2 DR e R EEEA 5y
x5 ) /l I\
/ . = =5
é L te YOX% BEN
b= - A4
A) y=-5x+5  (B)y=5x-5 A) y=Tx+4 B) y=—-4x+4
C) y=5x4+35 D) y=-3x+5 C) y=4x+4 D) y=-7x+4



77)

yy 78) Ay
/ 4
I ’ Fi
555) ~ 1/
‘-5-4-3-2,[1 4 x -5 432 / 4 3y
/1] 1/
/
¥ i
J
v Y
7 74 9
A) y=—x+4 B =4x +— A) y=-5x+—
) y 2x+ )y x+2 )y x+5
7 3 i 9
O y=-x+— D ==X+ — B =—x-5
) y=-x+2 D) y=ix+: ) y=x
C) y=-5x-—
D) y=—-—x-5
79) . 80) A7
’ i
9 . / "
J G g c S 3 } 5% R x
|
& [
Y i
A) y=4 B) y=3x+4 A) y=3x+7 B) y=-3x+7
C) y=-3x+4 D) y=4x+3 C) y=-Tx+3 D) y=Tx+3



